SH6FEE ISR ke

TER R

1HA7=0)

HES py | ESEY| simm | sEA

EEHE 2 30 10 291

B |EEHE 1 30 5 137
% RS 2 30 6 169
& BRmEE 2 30 4 116
BEMEHE 2 30 4 100
SatEAM 1 30 1 8

i A 3 20 1 10

F— OB ERAHF 1 25 2 25

g |[TUEST-vaAERTHIE) 1 20 2 21

B mshrEns 1 30 : 19

T DADDF YT HH— R RH) 1 40 1 1

- BB EE3I31=—ay 1 30 1 27
p EEEAELTSHICHL TORBENS 1 20 1 17
TROEAM 2 40 1 15

gz IS E LT BT — T I DB A 1 35 1 16
L L e 1 35 1 21

T ————— 1 35 2 30

o5 |WE-2H | (BHt8) (e3-z2m| 20 - 18
W |08t LYRIA (e5-2vm| = - 22

XE—RERICEBDETHHEEZRRET SIEENHY FT,




